
21037Art. N

Art. N20001

MERCEDES 
CLASSE A 09/04C09/12  120cm

MERCEDES 
CLASSE B 05/05C09/11  108cm

MERCEDES 
CLASSE R 02/06C12/13  127cm

MERCEDES 
CLASSE R LONG 02/06C12/13  127cm

QUADRA
ACCIAIO
Steel

Art. N15019

108cm

ALUMIA
ALLUMINIO
Aluminium

Art. N15024

108cm

HELIO
ALLUMINIO
Aluminium

Art. N15074

108cm

QUADRA
ACCIAIO
Steel

Art. N15020

120cm

ALUMIA
ALLUMINIO
Aluminium

Art. N15025

120cm

HELIO
ALLUMINIO
Aluminium

Art. N15075

120cm

QUADRA
ACCIAIO
Steel

Art. N15021

127cm

ALUMIA
ALLUMINIO
Aluminium

Art. N15026

127cm

HELIO
ALLUMINIO
Aluminium

Art. N15076

127cm



2

max ???kg

SAFETY REGULATIONS

.......................1

MAX

NO

MAX 80Km/h MAX 130Km/h

MAX
400cm

1

max kg.75



3

C

G

D

H

A

E

B

F

x1

x4

x2

x4

x1

x4

x2

x4

x2

x2

x4

x1

x4

x2

x4

21037Art. N



4

123

19202122232426 123

19202122232426 1 2 3
19 20 21 22 23 24 25 261 2 3
19 20 21 22 23 24 25 26

123

19202122232426 123

19202122232426 1 2 3
19 20 21 22 23 24 25 261 2 3
19 20 21 22 23 24 25 26

X X

Y Y

F

R

MERCEDES CLASSE A 09/04C09/12 23
(F = 84cm)

13
(R = 74cm) 120cm

MERCEDES CLASSE B 05/05C09/11 22
(F = 83cm)

11
(R = 72cm) 108cm

MERCEDES CLASSE R 02/06C12/13 28,5
(F = 89,5cm)

19
(R = 80cm) 127cm

MERCEDES CLASSE R 
LONG

02/06C12/13 28,5
(F = 89,5cm)

20,5
(R = 81,5cm) 127cm

X Y

1
2

ACCIAIO
Steel

ALLUMINIO
Aluminium

1
2

3

4mm

1

2

1

2

3



5

MAX

6 Nm

1
2

21GO164A

21GO164A

21GO164A

SMONTAGGIO
DISASSEMBLY
DEMONTAGE

AUSBAU
DEMONTAJE

DESMONTAGEM
DEMONTAGEM
DEMONTAZU

ROZEBRAT
RAZJAHATI

1

2

3

4

5

6

7



6

MAX

1 x YEAR

8

9

10



7

1

2

3

11

00PL364A

00PL366A

00PL365A

00PL366A

12



8

14

13



9

F

F

H

H

B
M6x80

A
M6x65

15A
MERCEDES 
CLASSE A

MERCEDES 
CLASSE B



10

G

G

E

E

15B
MERCEDES 
CLASSE R

MERCEDES 
CLASSE R LONG

D
M8x80

C
M8x60



11

16

18

MAX

6 Nm

17



Lotto di produzione da comunicare per eventuali ricambi

Production lot number to be communicated for any spare parts

Lot de production à communiquer pour toute pièce de rechange

Produktionscharge für eventuelle Ersatzteile

Lote de producción a comunicar por cualquier repuesto

Lot.

19

20

91
CA

00
10

 r0
6


